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NETWORK TOPOLOGY:

In this project we have 7-Nodes named (A,B,C,D,E,F,G) to design and form a network
with a given traffic matrix. In the model we use node A as node 1, node B as node 2,
node C as node 3, node D as node 4, node E as node 5, node F as node 6 and node G
as node 7. Each node is itself a router which has a hub inside, which is further
connected with the other nodes likewise (receivers &amp; transmitters).

Applying OSPF Between Nodes A→ D and E–> G



Blue Line indicates Path between A to D and for yellow line it is E to G

Outcomes:

A-B-C-D , Average Delay 161.70 Secs

We have also applied from source E to destination G and got avg delay 168.30 secs
Hopes are :



E D⇔ E
D C⇔ D
C C⇔ F
F G⇔ F
G

Implementation of Routing Information Protocol (RIP)



Now we have applied RIP on this 7 node structure to get destination D from
our expected source A using best hopes in between.The possible outcome is
showing us the minimum shortest path to obtain D is
A A⇔ E
E E⇔ D
D

And average delay is 161.70 Secs.

In the meantime, we were looking forward to getting the another path from
source E to destination G

E⇔ A and A⇔G using total hops 2.

We have OSPF applied path and RIP applied path, now we are going to follow
the outline procedure to get more insights on both of this Algo.



Comparison Between OSPF and RIP:

Fig: Background Traffic Delay Between 2



Speed of Convergence:

Average Number of Hopes:





End to End Traffic Delay for Dropping Packets per second:


